U3L2I4 (b) HW							            DUE: Monday, September 23
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Solve each of the following systems of linear equations and check
each solution. Among the four problems, use at least two different
solution methods (tables, graphs, or algebraic reasoning).
y=x+4 y=—2x+18
a~{y:h79 b'{y:—x+m

y=3x-12 afr=x
© iy=15c+3 “1y=—04x+7
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When asked to solve the system of linear equations

x +9
x — 18

Sabrina reasoned as follows:
| want x so that 2x+ 9 = 5x — 18

Adding 18 to each side of that equation gives me 2x + 27 = 5 and the
sides remain balanced.

Subtracting 2x from each side of the new equation gives 27 = 3x and
the sides remain balanced.

Dividing each side of that equation by 3 gives x = 9, and the sides
remain balanced.

If x = 9, then one equation is y = 2(9) + 9 and the other equation is
y=5(9) - 18. Both equations give y = 27.
and y=27.

The solution of the system must be x =

a. Do you agree with each step of her reasoning? Why or why not?

b. Use reasoning like Sabrina’s to solve the following system of linear
equations.

y=8x+3
y=2x-9




